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H 2. ADVANCE % MOTIVATE Of|A2| S84 ZAxt
ADVANCE MOTIVATE
#let 0] 2} 600 mg 2ok 0] 2f 600 mg
HMEOo] HWMEOof HMEO] HWMEOof
(N=175) (N=336) (N=187) (N=191)

% % % %

12 FXI0|A] 14 ghsff 2 22% 43%pP 19% 35%¢
FXO|M LHA| A B 2 12% 40%P 1% 29%P

4 F=Xof| A 7§ MEl SF/APS

31% 46%° 32% 45%
Ol A} HFS
0o O
12 FXHIA 7§ M El SF/APS

42% 63%P 39% 62%P
OlA} HFS
0o Lo
12 XA LHA| A 2ol 9% 24%pP 4% 19%pP
a. &5 1K It g
b. O] & vs 9 Hl Ct5d ZFEM SAH2E {2l (p <0.001)
c. O] %vs Y Hu OHEH ZHOM SHE2ZE Fo|T (p < 0.01)
d. 5 p <0010 Sf vs ?[f Hu

12 Fxof, g9 X{E I AHUYRLl HE2 40 HE o %4s FOA

AT AR O = QAT (ADVANCE 0| Al, O] ©F = 21% (N=336 &), 212 = 8%(N=173 &), p
0.001; MOTIVATE Of| M, O] & = 14%(N=190 &), 212} = 4%(N=186 &), p = 0.001).

12 FXH0, i &l SF/APS 4 Bhs 8l LHA|G BtesE 25 Edet A|ldUidAel a2 <
3l O] o2 Fo'et2 AACHAAOIM O =RACE (ADVANCE 0| M, O] SF = 31%, ?12f = 8%, p
0.001; MOTIVATE 0| A, Of f = 21%, ®If = 7%, p < 0.001).

2 gf

=2
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o

123 A 2 2E 2E YH HE2 A0 Hls O] ofs F0] &2 AR & U
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(ADVANCE 0f|A{, O] & = 3%, | =

p < 0.01).
ADVANCE 0| M, O|Fo| M=stH Qi A 0| AWM O] %S F0 L2 AHCSAL
O|Fe| d=<tX 0| i Z=0o| GIeTA O X7 /12 Fof &

AN YAED O 22 HE2 Ao 28l A WAIE
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H 3. ADVANCE Of| M O|Ho| ‘=5t oY Aif AH0| A= A il e}
'Y A ZYo| gls AFEXIe] 12 FXI0M2| F2/d At
ADVANCE
SieF Lo 0| 2k 600mg

U2t 2hsf

O|Mel HEst™ Qf HIf 23% (N=97) 41% (N=195)

O|Mel d=std f A1 gig 21% (N=78) 48% (N=141)
LHAIZE 8-S

O|Fe| W=std i Huf 11% (N=97) 33% (N=195)

O|Flol H=stH o 4O Q= 13% (N=78) 50% (N=141)
FORTIFY

SX12% Al® FORTIFY & ADVANCE % MOTIVIATE ST0IM 12 F7t2| 0] & W E0f |
X220 Cistod SF/APS LA HHSS EO[= 462 Tl AIHCHAXIO| CHsto] HotsiRict
NSRS 2 £ 52 F7HX| Of 8 = OtCE O] 9f 360mg ISR O (AT 8%) /A8 Y £ O
of 180mg LISF O RX| RS AL &L, E=

o} 0 O =2 FTHSIM Of 8 F0bCH 9/oF W3}
=
=

2
i
ne
1

= 2x9l WY

s& 1 At BrtE= 52 FAOM fd 2ol 8 52 FA0M WAIZ 2SO0t S5 1 At

Yot w0 O[O Y=oty 2/ Auf ZH0| AL fle AN SZEACHE 4).

H 4. 52 TXI0|A FORTIFY 2| f8°d A1l (0| & & 8% /WAIREE 64 FTXp

FORTIFY
o] & M £0f R/ o] & EM £ &/
o|oF m|3tE0] 9 0| 2f 360 mg I| 550
(N=164) % (N=141) %
ol o » 40% 52%"
O|Fo| MEstx @t Ay 34% (N=123) 48% (N=102)
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O|Fe| d=3tx o MIl gls 56% (N=41) 62% (N=39)
LA E BES 2 22% 47%¢
O|Mol W=3tx Q@ Moj 20% (N=123) 44% (N=102)
O|Hol W=23otx Q@ ML 9IS 27% (N=41) 54% (N=39)
JHME SF/APS YA HES 49% 59%f
AN ol |X| 51% (N=91) 69% (N=72)¢
LHA] A 2ol 13% 39%¢
ok X 10% (N=162) 31% (N=141)¢
a. 55 1K It B
b. O 2 vs < HW OS5 ZHOAM SHESE |F2/=H(p < 0.01).
c. O] % vs @9l CtEd ZFM SAXH2E Ko Hp < 0.001).
d. BEp <0.0010| 2 vs $F H|
= p <001 0] 9f vs ¢ Hl
f. S p <0050] 2 vs e HL
g S HMEF2 0L R QHO CHst Ay BLS2 St FX| A (FORTIFY)OAM %S
Fo 2 E X HiEE A ARIZE 2 RALCE

52 FXHO| ZH2 ol(deep remission)S EQ AlECHAXIS| HE2 O] o HU Eofy
OStFEAE F0f 2h2 A[HOfAXLO| H|si o of MW F0{/0] of HSIFEAE F0 =

—
A &R0 O =RXCH (2F2F 28% vs. 10%, p<0.001).

ADVANCE S MOTIVATE Al&O|A O] of R £ 123 20| SF/APS A& EIS
91 Fo| A[HHMXIOA 12 Fxt W 20 FXtof O] 2 360mg &S st
MY ERE T, 64%(58/91)7t 24 X0l SF/AP Ao BHE2 HERUCE SF/APS &
A& X 33 HO| FORTIFY Off SSE|A20 %[0 52 F St Of 8 FOICH A&
st F£0f HUACE 52 FAO|AM OlF AHEX &

45%(15/33)7F LHA|E Bt S 3L

55%(18/33)7F Y&t Tl ==

FORTIFY Ald =2t 30 o Aldf&At7t O & 360mg LSt £O0f & =40
f22 TX XE(1200mg thel ZH £0f, 0[0{Af Of 8 =0Tt 360mg HSHFEAL FO)E RACE
OlF AIRFUERS, 57%(17/30)7t 52 FAH0| SF/APS Yo BHSS FERUCL £ 52 FX0f

A CH & REC| 209%(6/30) H 34%(10/29)7 Zh2E ok 2t B! LHA| A BHE S SRt

g 2e A afo] Z Zif
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